

نام و نام خانوادگی پاسخنامه تشریحی تکلیف شماره کلاس ۲۰

$f(n) = \left(\frac{1}{n}\right)^{n-1} - 1$ $f(n+1) = \frac{1}{n+1} - 1$
 $y = \sqrt{n^r f(n+1)}$ $y \geq 0 \Rightarrow \sqrt{n^r \left(\frac{1}{n+1} - 1\right)} \geq 0 \Rightarrow n^r \left(\frac{1}{n+1} - 1\right) \geq 0$
 $\frac{1}{n+1} - 1 \geq 0 \Rightarrow \frac{1}{n+1} \geq 1 \Rightarrow 1 \geq n+1 \Rightarrow n \leq -2$
 $n-1 = 0 \Rightarrow n = 1$
 $D_f = [0, 1]$

$f(n) = \sqrt{n+1+n^2} - f(-n) = \sqrt{-n+1-n^2}$
 $-n+1-n^2 \geq 0 \Rightarrow n^2 + n - 1 \geq 0 \Rightarrow n \leq \frac{-1-\sqrt{5}}{2} \text{ or } n \geq \frac{-1+\sqrt{5}}{2}$
 $n \leq 2, n \geq 1$
 $D_f = (-\infty, -2] \cup [1, +\infty)$

$y = \sqrt{\frac{n-1}{f(n)}}$ $\frac{n-1}{f(n)} \geq 0 \Rightarrow n-1 \geq 0 \Rightarrow n \geq 1$
 $f(n) = 0 \Rightarrow n = 1, 2, -4$
 $D_f = (-4, 1] \cup (2, 3)$

$y_1 = \frac{1}{n^2 - 2n + 1}$ $y_2 = \frac{1}{n^2 + n + 1}$ $D_{y_1} = D_{y_2}$
 $n^2 - 2n + 1 = 0 \Rightarrow n = 1$
 $n^2 + n + 1 = 0 \Rightarrow n = \frac{-1 \pm \sqrt{1-4}}{2} = \frac{-1 \pm \sqrt{-3}}{2}$
 $D_f = [-1, 1] \cup (1, +\infty)$

$f(n) = n^r \cdot n$ $f\left(\frac{1}{n}\right) = \left(\frac{1}{n}\right)^r + \frac{1}{n}$
 $y = \sqrt{n^r \cdot n - \left(\frac{1}{n}\right)^r + \frac{1}{n}} \geq 0$
 $n^r \cdot n - \left(\frac{1}{n}\right)^r + \frac{1}{n} \geq 0 \Rightarrow n^{r+1} - \frac{1}{n^r} + \frac{1}{n} \geq 0$
 $n^{r+1} - \frac{1}{n^r} + \frac{1}{n} \geq 0 \Rightarrow n^{r+1} \geq \frac{1}{n^r} - \frac{1}{n}$
 $D_f = [-r, 0) \cup (r, +\infty)$

مبارت اتم و ذرات ریز
صغیر و صغیرتری

$$f(n^r, n) = n^r - 1 \quad \rightarrow \quad n=1 \rightarrow f(1, 1) = 1 - 1$$

$$f(x) = 1$$

$$f(x) = ? \rightarrow f(x) = 1$$

$$n=r \rightarrow f(n, r) = n - 1$$

$$f(1) = r$$

$$f(1) = ? \rightarrow f(1) = r$$

$$f(x) + f(1) \Rightarrow 1 + r = n \quad \checkmark$$

$$f(n) = n^r - 4n^r + (r+1)n - 1 + 1 \rightarrow f(n) = (n-r)^r + 1$$

$$g(n) = n^r + 4n^r + r+1 + r - 2r \rightarrow g(n) = (n+r)^r - r$$

$$f(n) = n^r = (r+r)^r = (r+r+r-r)^r + 1 = 1$$

$$g(n) = (n+r)^r - r \quad \frac{g(r+r-r)}{f(r+r-r)} = \frac{-r}{1} = -r$$

$$f(n) + g(n) = a + b\sqrt{n+c}$$

$$\sqrt{a-f(n)} + \sqrt{n+f(n)} = a+b\sqrt{n+c}$$

$$A^2 = 4n-14$$

$$A = \sqrt{4n-14} \Rightarrow A = \sqrt{4(n-4)}$$

$$A = 2\sqrt{n-4}$$

$$2\sqrt{n-4} = a+b\sqrt{n+c} \rightarrow a+b = 2, c = -4$$

$$(\sqrt{n+f(n)} + \sqrt{n-f(n)})^2 = n+f(n) + n-f(n) + 2\sqrt{(n+f(n))(n-f(n))}$$

$$4n + 2\sqrt{(n+f(n))(n-f(n))} = 4n + 2\sqrt{n^2 - 14(n-4)} = 4n + 2\sqrt{n^2 - 14n + 56} = 4n + 2\sqrt{(n-7)^2 + 7}$$

$$f(n) = \frac{n+r}{a+r(n+r)} \quad D_f = \frac{n+r}{(n+1)(n-r)} \quad D_f, D_g \subseteq \mathbb{R} - \{1, r\}$$

$$g(n) = \{(r, 1), (0, 1), (r, 0), (0, 0)\} \quad D_g = \{r, 1, r, 0\}$$

$$D_f \cap D_g = \{r, 0\}$$

$$\frac{g}{f} = \{(r, \frac{1}{r}), (0, \frac{r}{1})\} = \{(r, -\frac{1}{r}), (0, r)\} \quad \checkmark$$

$$f(n) = \{(1, r), (r, 1), (r, r), (r, r)\}$$

$$g(n) = \{(r, r), (1, -1), (r, r), (1, -1)\}$$

$$D_f \cap D_g = \{(1, r), (r, 1), (r, r), (r, r)\}$$

$$D_g = \{(r, r), (1, -1), (r, r), (1, -1)\}$$

$$D_f \cap D_g = \{(1, r), (r, 1), (r, r), (r, r)\}$$

$$D_g = \{(r, r), (1, -1), (r, r), (1, -1)\}$$

$$D_f \cap D_g = \{(1, r), (r, 1), (r, r), (r, r)\}$$

$$D_g = \{(r, r), (1, -1), (r, r), (1, -1)\}$$

$$D_f \cap D_g = \{(1, r), (r, 1), (r, r), (r, r)\}$$

$$D_g = \{(r, r), (1, -1), (r, r), (1, -1)\}$$

$$D_f \cap D_g = \{(1, r), (r, 1), (r, r), (r, r)\}$$

$$D_g = \{(r, r), (1, -1), (r, r), (1, -1)\}$$

$$D_f \cap D_g = \{(1, r), (r, 1), (r, r), (r, r)\}$$

$$D_g = \{(r, r), (1, -1), (r, r), (1, -1)\}$$

(M)

(Y)

(Y)

(Y)

(Y)

(Y)